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4] 2,176.83 697. 58 2,874. 41
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7H 2,471.17 238. 95 2,710. 12
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3 2, 466. 59 358. 50 2,825. 09
= 18, 251. 57 14, 752. 12 33, 003. 69
PRIGE D AR
(1) 1hEAA
PRBETT ZIRE [HECABiAT 2 mE] —RR (VIR EEE

T | D U ABAL FEZEA
HANL C °C ppm

4] 892 200 19

5] 850 200 17

61 385 200 12

7)] 857 200 11

81 881 200 9

9)] 850 200 13
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11H 880 200 9
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41 846 200 15

51 882 200 14

6] 900 200 23

7H 900 200 17
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9H 880 200 9

10 864 200 14

111 879 200 19

121 852 200 23

] 849 200 12

2J] 884 200 15

3H 896 200 11
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PRI A - - - 4A218 | 7TH218 | 8H4H | 12H4H | 1A198 | 3H19H
= H - - - 5128 | sA11E | 9H4R | 128230 | 2A158 | 3A31H
WA g/mN 0.15 0.02 <0. 001 0. 001 <0. 001 <0. 002 <0. 001 <0.001
TR ppm - 30 10 7 <1 <1 <1 3
ERBY ppm 250 100 59 76 47 86 50 68
HAbKkE mg/ mN 700 50 (ppm) 27 30 6.4 2 8 22
25 BERNF Hifir | EEEE | dE T s S
FRIA - - - 5A8H 6H416H | 9H17H | 10H21H | 11H11A | 2H19A
ZHH - - - 5H22H 7TATH [ 10A7H | 11848 | 12818 | 3A3A
W CA g/ mN 0.15 0.02 <0. 001 <0.001 | <0.001 | <0.001 <0. 001 <0. 001
TR ppm - 30 8 11 1.2 3.9 1 <1
BRIy ppm 250 100 54 37 64 63 88 70
HAbKE mg/ mN 700 50 (ppm) 26 32 13 25 9.0 10
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